normalized X2

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

107}

1072

Entries 216299
Mean 1.073
Std Dev 0.8929

107

107

107

N2 4 6

[ normalized x? probability |

Ratio

= Entries’ 214463

0.06

0.05

0.04

+ " [Entries
Mean
Std Dev

Prob(x2)

0
== DQM_TT__mkFit_ORIG =
S eateganmion e PR129GNSSY_132.0 prescoQH_TT_HoDIFok
e
0200
1.45 ; l ; l l
1.2
Forad g™
0.8
L SO TOUOT POt HOOwE OO
S AR L
AL TTARRT
h ## {HW## L HH

-1 0 1 2 3
n

10?

< X2/ ndf >

Ratio

i
T T[T [T [T T I [T TIT T

1072 107
0 AR(track, jet?



	Contents
	Page 1


